H ok
ONTENT

SGP1 'II/_{:IE/E\. sH L R R T P L L PP ST PYPLPPIPRRS: 1
SGP1 gear oil pump
SGPleflE/t\.iEl Ty 4
SGP2 gear oil pump
KZPABRGLTERTR evvvvvrreerrecrnemnnennettitiiiiiiiieeeeeeeae, 7

KZP4 series gear pump

DSG061E‘EH;‘T%"—"EI‘LJ§$/E;“E;E ................................................... 9
DSGO06 gear oil pump of lower noise

C101/1025ﬁﬂ$ﬁ$@§ ................................................... 10
C101 /102 dump truck gear pump

KP1505A§ﬁ|]$ﬁ_§g;-|-ﬁ ................................................... 11
KP1505A dump truck lifting gear pump

@1405A§ﬁﬂ$§gﬂﬁ ................................................... 12
KP1405A dump truck lifting gear pump

KP1403A B EIZEZEFFIR covverereverrererenentieniiiiiiiiiieca, 13
KP1403A dump truck lifting gear pump

KP1405A—RE _{Eﬂiﬁgﬂ-ﬁ ................................................ 14
KP1405A -R dump truck lifting gear pump

KP1403A-REENZGEZEFFZR «oeovvevrerorenercentinnteieniiiieaniin.. 15
KP1403A -R dump truck lifting gear pump

KPA-1302BE ENZEZEFFZR rovovevrererorerrsoratonnttsatanatainacensns 16
KPA-1302B dump truck lifting gear pump

KP75AEE|]$E§;+§E ...................................................... 17
KP75A dump truck lifting gear pump

KP753§ED$§59’+7§ ...................................................... 18
KP75B dump truck lifting gear pump

KP7SSEED$§S9"|'§F: ...................................................... 19
KP75S dump truck lifting gear pump

KP55 E ﬁ]] E Egﬂ- R L P PP PP PP P Y PP PPEPPPPPPPRPRPPD 20
KP55 dump truck lifting gear pump

GPGSSQED$$’+7§ ...................................................... 21
GPG55dump truck lifting gear pump

KP35B§E”$§S}I'7€ ...................................................... 22
KP35B dump truck lifting gear pump



DANLISS HYDRAULIC DANLISS HYDRAULIC

SGP1 ﬁiﬁi&ﬁ SGP1 gear oil pumps SGP1 ﬁiﬁiﬁﬁ SGP1 gear oil pumps

—. #E DA Oil Port in Styel D
SCPIRFIERRE—MIFMREm, ERTEZRFERBRMFRIN, EEEREMR. RN REAENSS. SHEERE
U BRI, TR, BINWETLZXA, KA ZEMREENMNERRE. A1
SGP1 series gear pumps are environmental friendly products with the features of low noise, smart structure and easy installation. The pumps are 52 49 4 130

widely applied in the industries of hoisting and conveying machinery, road machinery, environmental protection machinery, light industry machinery, 30 | 25 6.5 106
etc. The pump has been the first option accessory parts for variety of environmental friendly main equipment. -

=. SvE
(@R
\&J
=

[(e)
tlet
Inlet Outle PO S e a—

See “Shatend”

.

JAN [J

7
i
w

S B S5t B

H [
]

™

i

(A

115

100

See instruction

Z
==/

.

=. BIEi}iB] Model descriptions
EmEiHA ( Rear Port )

SGP1 — 32 D S H 1—L ™
@ @ ® ® 6 ® 0 ® o
=
(DSGP1 Series 3.UNF4#24 UNF screw thread Displacement 23 25 7 30 32 36
@3k = 1E O R~ Mounting spigot diameter S: #i O Inlet M27*2 il Outlet M22*15 A1 17 118 122 124 128 132
—: ©82 00 A: D82.5550s S1: (ABGHOERA30 EHS)
C: 805, B: ®85J5° S1 (A type port apply to the displacement of 30, 32. 36)
ORAHE (ZF/E) BEMO Inlet: M33*2 Wil 0 Outlet:M27*2
Nominal displacement (mL/r) 9.4%%% Special 1S . .
19. 23, 25. 27. 30. 32. 36 ©®%% A3 Mounting AZLE#A Ol Portin Styel A B
@;@AfRLE Position of ports H:7K 77 w124 4842 A0 BB Horizontal 2 bolts: 106
D.JFHE;#MO Rear port H1:7k 75 m24 4242 Fr i B Horizontal 2 bolts:130 A
FMmEMA (/=L Side port (on cover rear) @%hH 73 Shaft type 65
AMEMO (FERAELD Side port (on body) 1.SAETE$# SAE spline: 16/32DP, %545 Teeth No.: 13, 4 Length:42 - 4-M10x1.25
®ih O Port configuration 2 FBEEM (BAMEZE ©20) Straight spline (dia. ©20) ]
LSAEZEZmO (RAFME 5.SAE7£%E SAE spline: 16/32DP,i54] Teeth No.:10,4¢Length:33
SAE flange port (side only) H.4BRZTE%E Rectangle spline: 6-20%16*4, {&Length: 70 E .§ }
#im A Inlet: 25; 52.4%26.2; 4-M10*1.25 H1. 45/ 7E % Rectangle spline: 6-20%16*4, {&Length: 41.5 U'E‘ é 7 | T
H3# A Outlet: ®20; 47.6%22.2; 4 -M10*1.25 9.45% Special & 2 —
2.G24r (JISB2351) [IPFYELL ®nEdtA B (4hiH%E) Direction of rotation (from shaft end) 2 S 4EK§ o —
G screw thread (JISB2351) same as PF L:ZCHE (RT$T) Left rotation (counterclockwise) b @
i#ih Olnlet: G1 R:&HE (RETED) Right rotation (clockwise)
HiBO0utlet: G1/2. G3/4 @1i% 1+ F 5 Code number
S0 “HiEpR”
. H8ES2¥ Performance parameters See “Shatend”
we | AEAN | Ehgme [ @peees | g ax
Models disg)rlgie/rrrient B E BS &R & E 25 Ef(fﬁi‘;racy L <i1§) t . -
Rated Max Min Rated Max =7 MimsmA C Side Port )
SGP1-19 19 115.5 4.1
SGP1-23 23 118.5 4.3 02 A B #ihO Inlet port H30E outllet port
SGP1-25 25 122.5 4.6 Displacement C1 c2 D C1 c2 D
SGP1-27 27 20 25 600 2500 3000 92 124.5 4.8 30 643 124
SGP1-30 30 126.5 5.0
SGP1-32 32 1315 5.4 32 66.3 128 26.2 52.4 25 22.2 47.6 20
SGP1-36 36 130.5 5.8 36 68.3 132

/01 /02



SGP1 ﬁiﬁi&ﬁ SGP1 gear oil pumps

DANLISS HYDRAULIC

FA;MO Oil Port in Styel F

59 59
A
65,
= ) E—
N =5 EEO
- T ) BB e N
2 8 o~ i 3 Q‘%‘ Flange Port
e Bel “
=
© o
2 0 ‘
o - N
/ HiBO 1 Ul L
TR — S “HER
i Outlet Port See “Shatend”
Inlet Port
H 2
Displacement A B
23 107.0 130.5
25 108.5 132
27 112.0 135.5
30 114.5 138
32 118.5 142.0
36 122.5 146.0
I: 5: 2: JF§¢ Straight Spline
SAE#RA SAERRME
.42 33 ‘
% % No.of tooth 13 33 5 %I No.of tooth 10 20 L i
D.P. 16/32 D.P. 16/32 ‘%
£ 71 £ Pressure angle 30° _ & 71 f8 Pressure angle 30° :
C.P.0.1963” C.P. 0. 1963” - & ‘
4N 12 Over pin ida 4N 12 Over pin ida <EH T
@ 21.80 - 2 17.043 oa Il|— |
2 21.68 216.916 ‘ '
HE1Z Pin dia. 2 18.63 %K% Pin dia. 213.86
H, HI1: 562 1E 8 9: 455k E % Special ord
o
70(41.5) |
53(25)
R
83 Shaft end D ! L
[ O
PY 25 i
Straight spline 20 22.5 42
NO.2
(AR~ AH1SH#EHER

/03

DANLISS HYDRAULIC

SGP2 ﬁiﬁi& E SGP2 gear oil pumps

—. &

SGR2RIERRRAFHMEERANMENZ R RAEFENIMESERR, RA=FAREN; MRXADUHK; URANEEY
B pE, REABRERASM; PEEAHRG, XEEFLEME. NTBULRSEERNMEER. FHRITEMN.
SGP2A series gear pump is external gear pump possessing axial clearance automatic compensation and radial hydraulic balance,adopting three

opening struture.The bearings are DU bearings and the side plate is bimetallic material. The front and rear covers, are made of aluminum accessory
with high strength.The middle part is consist of iron casting and the surface is covered with metal ceramic.All above improve the

performance,lifetime and reliability of the pump.

—. SMEHE

=. BISiHM Model descriptions
SGP2 — 36

3 D1
o © 6 ® 06

(DSGP2 Series
@3%: =1 O R~ Mounting spigot diameter
— o895 Z:0102 452
A:®82.55%,s B:®101.63 5
@NHHE (ZEF/E
Nominal displacement (mL/r)
20.23.25.27.32.36.40.44.48.52
@;HAHLE Position of ports
D.J5E# O Rear port
FMmE/HEA (/=L Side port (on cover rear)
AMEHRA (FERHELD Side port (on body)
®im AR Port configuration
LSAE#=imA (RER T3 THE)
SAE flange port (only for the displacement below 36mL/r)
O Inlet: $25; 52.4%26.2; 4-M10%1.25
3l A Outlet: ®20; 47.6%22.2; 4 -M10*1.25

M. 4S8 Performance parameters

l_ L x>

H L
©® O ®
2. G#24r (JISB2351) [EPFHREL
G screw thread (JISB2351) same as PF
#ih Qinlet: G1 Hif A Outlet: G3/4
3.WHRZL W screw thread
9.4¥5K Special
©% %73 Mounting
H:7KF77 24 4244 50 28 Horizontal 2 bolts: 106
H1:7KF75 244248 #0 BE Horizontal 2 bolts:130
@B 73\ Shaft type
1.SAETE%E SAE spline: 16/32DP,i5%§ Teeth No.:13,4¢ Length:42
2 FEEME (BHEREZE 20D Straight spline (dia. ©20)
9.4¥5k Special
@®nEsE A m (4H5%7%& ) Direction of rotation (from shaft end)
L: A 1§ (G#BT4t) Left rotation (counterclockwise)
R:AKE (JATEE) Right rotation (clockwise)
©®i&itF S Code number

o NIRHEE [E 7 Pressure %% & Rotation speed " -
pE=S .ﬁonﬁlﬁﬁ _ (Mpa) — (r/min) E— I]r%é? Elejé_tél?r]e W%i?ht
Models dlsPIacement B = =4 i3 B =) 1\1/)[ a (kg)
mL/r) Rated Max Min Max P g
SGP2-20 20 4.9(4.4)
SGP2-23 23 5.1(4.6)
SGP2-25 25 5.3(4.8
245 29.4 3000 (4.8)
SGP2-27 27 5.4(4.9)
SGP2-32 32 400 0.02~02 5.7(5.1)
SGP2-36 36 5.9(5.3)
SGP2-40 40 22.6 275 3000(2500) 6.1(5.4)
SGP2-44 44 20.6 24.5 6.3(5.6)
SGP2-48 48 . . 6.6 (5.9
18.6 226 3000(2500) _
SGP2-52 52 17.2 20.6 6.8 (6.1)

/04



DANLISS HYDRAULIC DANLISS HYDRAULIC

SGP2 Jlfliﬁimﬁ SGP2 gear oil pumps SGP2 ﬁiﬁiﬁﬁ SGP2 gear oil pumps

A, SMERSTE SGP2-XXD2HX-LXXXX
SGP2-XXF1HX-LXXXX L 6.5 RA47.5
L3 6.5 &Rk
L2 eI EAS —
R47.5 —
Sh%EIEN |
_ PRR=LER | I
| - g 1 A i I L ‘
- NA—‘—\ U \ L
) SJIRP | R -
- o '
— T & - 1 7—3—7—‘7—7777— ‘
<~ - ! J
® 4 1 |
N 1 B i ‘0_3 / |
262:03 | | J i\
@25 |
10 | SRZEID
HilmO NFRHEE L1 L2 L3 L4
. o 20 140.9 99.6 107.4 52.8
N - 23 143.9 102.6 110.4 54.3
3 25 145.9 104.6 112.4 55.3
27 147.9 106.6 114.1 56.3
32 152.9 111.6 119.4 58.8
30.2+0.3
@32 36 156.9 115.6 123.4 60.8
E: RERTAZEL0 40 160.9 119.6 127.4 62.8
44 164.9 123.6 131.4 64.8
48 168.9 127.6 135.4 66.8
HHOGH HEOG2 52 172.9 131.6 139.4 68.8
R47.5
_ SREMERIR e RERTAEL10
S R%EO
7~ HhER
B O 13
-—- 4-M10 SAE# FF £ 15 52t e (=3t 16/32
L4 22 EAf 30°
a - 42 & FEtEEE | 24.819~24.891
A . slee S
! H FEZ| £l g BEERE ®3.048
— 29 29 N
_ -— == 18 . s . - HOME
‘ ‘ HHARR | kAR -
-6 = REAGNE | FEEE | REMNE
© ] L
302403 3 ®25 ®19 NHRHEE27~36 — AHRHE20~36
i RERTAZEL1.0 im0 @ 32 G1 G1/2 — O O




DANLISS HYDRAULIC DANLISS HYDRAULIC

KZP4/ KRP4§§|H§$%§ KZP4/KRP4 series gear pump KZP4?R§'H£I$%§ KZP4 series gear pump

KZP4. KRPAZRFIERMREMRRASBERSEME, NAERERT HEERFENIME, ZETE, DUREE, SRXANE

HEEZTEHKA, ERAAFRNES, EhE, BRER ARME, FOKEES, MzZERATER, MIXZE, 3, SEN. & SMEE  Layout
B, ERNEIERNMURT L, BT, FI, RINFTL, 130 L

106.5 8

KZP4,KRP4 series gear pumps adopt the material of high strength aluminum alloy and advanced technologies of axial clearance floating
automatic compensation, radial balance, DU self-lubrication and gear with double pressure angles, making the pumps with the features of high

volumetric efficiency, high pressure, lower noise, strong shock resistance, long lifetime, etc. The pumps are widely used in the industries of mining ‘ 524+01
machinery, light industry machinery, environment sanitation machinery, agricultural machinery and he engineering machinery of forklift, loader, 2-M10x1.25
i = e . 1 ﬁ
(=}
| . B kalasTad ]

47.6+0.1

-0.087

0

excavator, road roller, crane, etc.

@ 82.55

[ —
22.2+0.1

4-M10x1.25

4-M10x1.25

130
106.5
B S %81 Model descriptions 554507
2-M10x1.25 ;
KZP4. KRP4 — 7 A P S R B /:\
@ @ ® ® 6 © ] 7 ‘@‘}
(DKZP4. KRP4 S:SAESZEUA O R @ 7/ &
QOrtHE (ZEF/E) SAE screw thread port ! 5
Nominal displacement (mL/r) #5m O Inlet: 175 -12UNC F
7. 9. 12, 14, 17, 19, 23, 27, 33 ;M0 Outlet: 7/8-14UNF g
@iEsEAE GhinE) ©if O E Position of ports
Direction of rotation (from shaft end) R #HmOEMEFERAKL) 4-M10x1.25
AZEHE G#RTE) Left rotation (counterclockwise) Inlet. outlet both at the side (on body)
C:&5E (RETED) Right rotation (clockwise) ABFROERK L, HhMAOERSEL
@73 Shaft type Inlet on body, outlet on cover front 8,
P :Fﬁi Straight spline  S: ‘SAE 1E## SAE spline ' D% 73 Mounting o 130
T #EE 4l Taper shaft  X: #iFFRFEHE  Involute spline B. /KA @284 il 28 Horizontal 2 bolts:106.2 106.5+0.1
®;l AR Port configuration 1242 Bolts: M10%1.25
S.SAES 230 C. K77 [@2/MZ42 FUL BB Horizontal 2 bolts:106.2 \\\\\\
SAE flange port ML Inner bore: ® 11 g 2-M10x1.25
HEH O Inlet: ©25; 52.4%26.2; 3/8-16UNC (M10*1.25) D. 7KF 7 [[24 8848 F:0 BE Horizontal 2 bolts:106.2 | 8
H3HMA Outlet: P 18; 47.6%22.2; 3/8-16UNC (M10%*1.25) FFEO Opening % 1 -+
D.j# MO Inlet: SAESA= SAE flange 0x1. S
380 Outlet: 7/8-14UNF
HEESH Performance parameters
AR BEE o, peed =
5 Nominal i
Mifl displacement Max_ Pressure Weight
oden ?mL/r) (Mpa) &% Min B 5 Max (kg)
KZP4/KRP4-7 7.0 2.3
KZPa/KRPA9 oa 500 4 F4# Plain key EFF4IER Involute spline N SAE7E§E SAE spline
47 I TE g -— I TEgE
KZP4/KRP4-12 11.9 600 3500 25 5 ‘T Inxolute spline In‘\'/olute spline
KZP4/KRP4-14 14.8 17.2 500 3.0 AA i To® 13 21 T mM 10
: _A an . Er
KZP4/KRP4-17 16.8 600 3.1 5. 2% 16/32 & o NTIRE
KZP4/KRP4-19 19.2 32 e b - ENf 0 8 7}; H- EAf 0
KZP4/KRP4.23 229 3000 33 19.5 Pressure angle 30 g Pressure angle 30
- . . PN Xz
650 —A Major diameter 8175 & Major diameter 17 s
KZP4/KRP4-27 265 15.7 34 | L N . NE .
KZP4/KRP4-33 33.3 13.7 2500 35 Minor diamete: ®13.5.0, Minor diameter 813.9.0,

101 /08



